
3ULQWHG�PDM����������DW������
:52&/$:�23(1������
7HDP�5HVXOWV

*HQHUDO�&DWHJRU\

7($0

3RLQWV 1DPH

&203(7,725

3RLQWV 1DPH

2SHQ�'LYLVLRQ

��������� 648$'�.UDNRZ�
�������� :\ORQ��0DUFLQ
�������� :\ORQ��0DUHN

3DJH���RI��



3ULQWHG�PDM����������DW������
:52&/$:�23(1������
7HDP�5HVXOWV

*HQHUDO�&DWHJRU\

7($0

3RLQWV 1DPH

&203(7,725

3RLQWV 1DPH

3URGXFWLRQ�'LYLVLRQ

��������� %$�%$&+�3URG���
�������� /HZDQGRZVNL��3U]HP\VODZ
�������� 5HGHFNL��7RPDV]
�������� :DVLOHZVNL��$UWXU

� +RIIPDQQ��.U]\V]WRI
��������� :66�3URGXFWLRQ��

�������� *U]HOND��.U]\V]WRI
�������� 6RNRORZVNL��/HV]HN
�������� .ROLQVNL��5REHUW

� *U]HOND��=ELJQLHZ
��������� =6'�3URGXFWLRQ�

�������� 0DOFKDUHN��7RPDV]
�������� 0LNODV]HZVNL��5REHUW
�������� /D]DURZLF]��0DFLHM

��������� 32=1$1�3URG�
�������� .DF]\QVNL��0DFLHM
�������� 0HFZHO��3U]HP\VODZ
�������� 1L]HZLF]��:LWROG

��������� %$�%$&+�3URG���
�������� %RUNRZVNL��/XNDV]
�������� .RSLHF��.DURO
�������� .RSLHF��0DULDQ

��������� :66�3URGXFWLRQ���
�������� %DQDV]HN��0DFLHM
�������� 7\EXUVNL��:RMFLHFK
�������� &\EXOVNL��0LFKDO

� 6]F]HSDQVNL��5DIDO
��������� '5$*21�6LHGOFH�

�������� .ORV��$UWXU
�������� 0LFKDOHN��$UWXU
�������� 0LFKDODN��:LWROG

��������� =6'�,,��
�������� :ORF]HZVNL��$GDP
�������� .RQLN��6ODZRPLU
�������� 3LNXO��$GDP

3DJH���RI��



3ULQWHG�PDM����������DW������
:52&/$:�23(1������
7HDP�5HVXOWV

*HQHUDO�&DWHJRU\

7($0

3RLQWV 1DPH

&203(7,725

3RLQWV 1DPH

6WDQGDUG�'LYLVLRQ

��������� &=�6��7��3/�
�������� 6LRGD��:LHVODZ
�������� =QDPLURZVNL��6ODZHN
�������� 6DQHF]QLN��.U]\V]WRI

� 0ROOHU��-HU]\
��������� 5(''27�

�������� .DXIPDQLV��(ULNV
�������� 9HOLFNR��/DXULXV
�������� *LUJ]G\V��*HGLPLQDV

� 6LOGLDMHY��$QGULHM
��������� :66�6WDQGDUG�

�������� 0L]XUR��0DFLHM
�������� -DEORQVNL��$UQROG
�������� &LFKDF]��:ORG]LPLHU]

'4 .RODNRZVNL��-DQ
��������� =6'��

�������� %XU]HF��:LHVODZ
�������� 6S\FKDOD��0DFLHM
�������� 6FKUDPP��3LRWU

� 1RJD��7DGHXV]
��������� %$�%$&+�67'��

�������� &\EXOVNL��:RMFLHFK
�������� =G]LWRZLHFNL��$QGU]HM
�������� /HZDQGRZVNL��-DURVODZ

� 3RSODZVNL��*U]HJRU]
��������� 32=1$1�67'�

�������� 0DGDMHZVNL��/HV]HN
�������� :LGOD��5DGRVODZ
�������� .RSXW��-XUDQG

'4 'HEVNL��-DURVODZ
��������� 6$36$1�

�������� 9ROVN\L��$QGULM
�������� *LU\D��9DOHQWLQ
�������� ,JQDWRY��2OHNVDQGU

'4 7RNDU��,JRU

3DJH���RI��


